+s- ROEMHELD

Issue 12-06 E

5 1.520

PR T
TRE W v
A TLAYEE 1 500bar

*HChR 10-08

Az

1T A2 P IR ) B SR A SRR BT 5l &
AT B s ki & & 56 F0E H 4 X80
FRIREMESL.

A

ITRMmIEERM TARMNEENERS.
EHIEm S EE SRR R RRET
FLIRAIBERLE R TIZ MR .

s
o XEAGIT
FMRBICE SN F5 EH AT R B1.509
AHERER~

TRMREAR

3 FRERIITIEKE

fRR R R T A MM

BAE S ER A RSN ARETIA
SEEE 5mm

°  FIBEMIBEES VITON®EE:

REAR

]

@ ®

|

P07

| u
LI AR e
E —ﬁ\§%y \EFJ

__F______________ - =

RGUERE

O B HE MR EE

R

M O BlEmE AR

TAEEH#Bid 160bar BT, 4450 F B 7R 14
BR3Z K GH ET

V/////////////

\Bﬁ

==
=

-

SRR
WS mE R R DB RERE TGS, 2 P_HEI
! |
SHESNFEE, ESEE 4 THRER . 1
A
f BL 38 0 B K R4 05 FE 2 -25.. +80°C K
+120°C.
KL%
BEEENERS .
o Y SE T AT B FE BO SR SR HR 5T 017
T
KPT H115+86-21-54255881 f; H+86-21-64386587 £ L http://www.roemheld.com

A S SN S AT I8 0



2, ROEMHELD

ZEUERR MR T

2ATF 1531-,1533 #

HRBEI RS EHAR 1534-
G3.800 /
7 [0.05] A SW
T
4234
HT R Ak
1247 3614-234  ~_|

\
-© ]

= I :I
I AN i K i 5
Hif: — NI PRI 1 ' !
femE - apprax. af P | o= I i
L @D | :
appro, a2 || | !
\ - ' o
L‘ﬁ___h.r__ P ] F '—-—-—:—l
Wp— . [ S 1 1 +
I S i | =H— E| i i i

a _ [ A
g B = max. 2 mim

IGRARN == / AN
N T N
P
Z A7 F149257 DIN 912 BYTFL
{#imFn O BB E
) m R EEE B
K& L& B &
16-40mm 17#2 =50mm {712 &
| — [s
T S

h
\y
¥
4
%
&)
b
[T 11
i
it
1

-
h
4
]
1
w17

a2
\ B 5
e
Pl
Cu A O T | J_E;\
E — | Ho | Yl
e T T
R IR
— a i
B I e HEHE N dr | L
: a2sT ! } | o
a (-1 i
ot Ra=08 (] -
i Ra<0,B —\-'— w_fi
\/ i Rz

ji e, ! T,
_Jwl_ - Jul HSt R ) O R

& RLERTE A BT, 3 BT TR eSS 180°, F S #4728 51 BB A9 Ie) KRS TANAR Ui 32 A Ry O 2L .

2

B1.520/4 ki 10-08 A BT AN S AT



- ROEMHELD R
2D D [mm] 16 25 32 40 50 63 80 100
EEFO [mm] 10 16 20 25 32 40 50 63
HhH 100bar [kN] 2 4.9 8 12.6 19.5 31.2 50.4 78.4
T 500bar [kN] 10 24.5 40.2 62.8 98.5 156 252 392
HAh 100bar [kN] 1.2 29 4.9 7.7 11.6 18.6 30.6 47 .4
& 500bar [kN] 6.1 14.5 245 38.3 57.9 93 153.2 236.8
F10mmiTiE T2 [cm?] 2.01 4.91 8.05 12.56 19.63 31.17 50.26 78.54
A REfTE [cm?] 12 2.9 49 7.7 11.6 18.6 30.6 474
a [mm] 60 65 75 85 100 125 160 200
al [mm] 35 34.5 33.5 33.5 30 47 37 42
a2 [mm] 35 34.5 33.5 34 32 47 39 44
b [mm] 35 45 55 63 75 95 120 150
b1 [mm] 4 5 5 5 6 5.5 7.5 7.5
c [mm] 6 7 10 10 10 14 14 15
f [mm] 30 50 55 63 76 95 120 158
g [mm] 6.5 8.5 10.5 10.5 13 17 21 25
h [mm] 40 38 45 45 49 52 62 64
h1 [mm] 24 38 29 26 33 37 47 52
k [mm] 17.5 225 27.5 315 375 47.5 60 75
m [mm] 11 16 13 12 13 20.5 20 24
n [mm] 16.5 18 24 24 27 26 34 35
oOxXBB LR E [mm] M6x12 M10x15 M12x15 M16x25 M20x30 M27x40 M30x40 M42x60
p G1/4 G1/4 G1/4 G1/4 G1/4 G1/2 G1/2 G1/2
r [mm] - - - 4 4 4 5 6
s [mm] 40 50 55 63 76 95 120 158
t [mm] 22 30 35 40 45 65 80 108
u+0.05 [mm] 1.1 1.1 1.1 1.1 1.1 1.5 15 1.5
v TR [mm] M4 M5 M5 M5 M6 M6 M8 M8
v2 iR[E [mm] M4 M5 M5 M5 M6 M6 M8 M8
w +0.2 [mm] 9.8 9.8 9.8 9.8 10.8 13.8 13.8 13.8
X [mm] 9 16 13 10.5 13 8 225 24
y [mm] 20.5 21 27 27 29.5 31.5 39 40
z [mm] 28 245 30.5 30 33 34.5 415 42.5
z1 [mm] 11 12.7 14.5 13 17.5 21 26 30
R [mm] - - - 2 2 2 2 -
S [mm] 8 13 17 = 5 = 5 =
ORIE R~ 7x1.5 7x1.5 7x1.5 7x1.5 8x1.5 10x2 10%2 10x2
OZIE RIS 3000-342 3000-342 3000-342 3000-342 3000-343 3000-347 3000-347 3000-347
718 +1 [mm] 16 20 25 25 25 30 32 40
21 +1 [mm] 81 88 102 104 109 126 141 156
EX [ka] 1 1.6 2.7 3.4 5.1 8.9 16.3 28.2
SE IR GE NG

MBS 1531-136 1533-136 1534-136 1535-136 1536-136 1537-146 1538-146 1539-156
HOR B AR N e i L
S (KH) 1531-130K 1533-130K 1534-130K 1535-130K 1536-130K 1537-140K 1538-140K 1539-150K
= (BR ) 1531-136B 1533-136B 1534-136B 1535-136B 1536-136B 1537-146B 1538-146B 1539-156B
{718 +1 [mm] 50 50 50 50 50 63 80
Sk +1 [mm] 115 118 127 129 134 159 189
EX= [ka] 1.7 23 3 4.2 6.2 1.1 21.7
SME RS T

MBS 1531-166 1533-166 1534-166 1535-166 1536-166 1537-176 1538-186
OB B Ryl =X T
S (LE) 1531-160L 1533-160L 1534-160L 1535-160L 1536-160L 1537-170L 1538-180L
RE (BE ) 1531-166B 1533-166B 1534-166B 1535-166B 1536-166B 1537-176B 1538-186B
712 +1 [mm] 100 100 100 100 100 100 100 100
2K +1 [mm] 165 168 177 179 184 196 209 216
E- [kg] 2.5 3.3 4.8 6 8.6 14 24.2 39
SE IR LS

MBS 1531-196 1533-196 1534-196 1535-196 1536-196 1537-196 1538-196 1539-196
HFOR! B AR N e i L
BE (L) 1531-190L 1533-190L 1534-190L 1535-190L 1536-190L 1537-190L 1538-190L 1539-190L
S (BE ) 1531-196B 1533-196B 1534-196B 1535-196B 1536-196B 1537-196B 1538-196B 1539-196B
P4
=3 3829-180 3829-180 3829-180 3829-180 3829-180 3829-030 3829-030 3829-204
HEEMMEpnp
M12x1 B
S 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049
M12x1 BE&
=3 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078

BARFFER E4TT



2+ ROEMHELD
Bk h i 1531-XXX 1537-XXX 1539-XXX
1533-XXX 1538-XXX
1534-XXX
1535-XXX
1536-XXX
BEAF AR
RERE C -25...+80 -25...+120 -25...+80 -25...+120 -25...+80
$ETIIEIERS Sn mm 1.5 1.5 1.5 1.5 1.5
SEFRT/ERES mm 0...1.2 0..2 0..1.2 0...2 0..1.2
AEgE % <5 <5 <5 <5 <5
i % <15 <15 <15 <15 <15
R~ DxT mm M12x1x56 M12x1x56 M12x1x78 M12x1x78 M12x1x93
AARFA$Y 1.4104 1.4104 1.4104 1.4104 1.4104
ARE AL vE S EP(duroplastic) & EP(duroplastic) & EP(duroplastic)
IRADEL IP 68 68 68 68 68
EEERA SatEk S4¥Ek S4¥Ek SaiEk SaiEk
B
HE DC DC DC DC DC
53 3t 318 3#8 318 318
FRIhEE i B P E i
wmHiES pnp pnp pnp pnp pnp
FELIERE V 24 DC 24 DC 24 DC 24 DC 24 DC
FETIERT mA 200 200 200 200 200
HE \Y, 10...30 DC 10...30 DC 10...30 DC 10...30 DC 10...30 DC
W RE % <15 <15 <15 <15 <15
Frshi= Hz 1000 2000 1000 2000 1000
TR AI B mA <10/<2 <8 <10/<1 <8 <10/<1
L EPE V <1.5/- <25 <1.5/- <25 <1.5/-
HEEEARIP i ) ) i i
it 2 BRI =] =] =] =] =]
HEHRERE 3829-180 3829-228 3829-030 3829-227 3829-204
OREAE (LI~ 3001-550 3001-550 3001-551 3001-551 3001-550
HERE 6%) 3001-552 3001-552 3001-552 3001-552 3001-552
<H> i -3 Ercm 21_1|:I =Tl 1 a l‘IC'.eT-' 4 (5] Da}'_ﬂ_ :,l
| — L | ,
oty BEERE L;_:‘_{ ] ™ X
= - =
ey R BW 1T ! I | wir | | = Ll
. | | e . W17 | o
= P \ |
2 : — 0
SW 10— ! + ik
R 12X !
SW 10 | l
HE S v {1
— i
M 121 M 12x1 ﬁ
R 21
TR REMIAT — a .
Ak e e i
1EER T Dﬁﬂ
2. D TEE AT L R R ,
B R AL 8 leunel
ik |l | v/
1/4 K #94mm ! 7
11/4 K%y 1mm A
3. FIZEE B SIS | -
4 BRI TN g[é @ LED:B & (4r8)
iR ; UIEE
1 ERFE2IEE GEAS B D) aE B (Re)
15 BEES 4 a b € RILELR MRIRE LED BE
% pnp M12, 5% 25 39 - IP68 -25...470°C a 3829-049
H3kEHE pnp M12, & - 1 14.5 IP68 -25...+70°C x 3829-078
% pnp M12, 5% 31.5 38 - IP67 -40...+105°C x 3829-230
fEkER pnp M12,EE = 355 14.5 IP67 -40...+105°C x 3829-229

PR Bk IRt




